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QUESTIONS

1. What are the main branches of surveying?
2. Define "geodesy" ?

3. What are the main divisions of geodesy based on the study
area?

4. What are the major branches of geodesy based on the
nature of geodetic observations?

5. State some sciences that are closely related to geodesy.
6. List some applications of geodetic surveying.

7. What are the main types of geodetic measurements?
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Thus, the geoid is the true or actual figure of the Earth. But, it is an
irreqular or complicated figure, that can not be modeled or
described mathematically.

On the other hand, the ellipsoid is the best mathematical figure
close to the geoid. It can be modeled and described
mathematically, so it is used in surveying and mapping
computations.

flattening i)l sa f cum @, and f g aic dYA o 2 sandV) Cay a3 (Say L
Al sy

f=(a-b)/a

s 5 Lalle doadtuall & gV o dlad (amy aay JEN J goall

M| Rl cglie | gaall il | gaall che PP

EC| 1/ (7)) bAaaY | (3) asy

Jeasac | Yado T¥oT VA 1YYVY4Y | Bassel 1841

Jsasac Yay o 1yotoeyo 1YYAYed | Clarck 1880
pae YaA Y TFOTAYA TYYAY. . | Helmert 1906

e YaA YR 1Yoivo. oY TYYAYYe | WGS 72
e | YaAYov | areuvey ¥y | arvAyYY | WGS 84

cLdjaay) i ¥.Y

oY) i e Cae aBge e i il o Sl 2l s Coordinates <l
el wiy () mn el ol CIVEAY Lasi ciilaaY) dakaif saaiiy Aday 2l e
055 clilaay) gl (Aday 3l Jie) aa ezl (6 siaall HLia) died ajde x8) sl
Two-Dimensional (or 2D)  sla¥) il f i o 5 4 gl e Cililaa)
Lo b — e dday &l e — 4kt JS o ) Saa¥) 40 and as 5 .Coordinates
B gunal¥) 13S0 Aldie] aie Lain (XY ) o ¢ s) Sl (S35 Lgad ge 2ol (i
Three- sl S cilaay) s el il Glilay) ¢ 5 e Jabais Lild as e el
o (e ddatill ¢ Ld5 ) ddca) cany S Dimensional (or 3D) Coordinates
}i g e u.n) A1) e:\ﬁ\ i3 yzal C\_\;.u Lﬁ‘ ¢ Gl Lgad ga 0l WG \-3<Q+)A\
Spherical 4.5 S lflaay) anly SLSaY) a5 S Al iy 2l e JST(XY,Z
Geodetic Aol QLI AYL et 3w ulV A 8 Lain Coordinates
lilaay) § Geographic Coordinates il sall cililaay) i Coordinates
One- 1adl i plal clilaaf a s 55 LS Ellipsoidal  Coordinates & swulY!
(e dasil) gl ) e L s Al Wle s s Dimensional (or 1D) Coordinates
s AS Ao A 58 gnl 5 A goal) il by aakicdl aa el JSEN las
2aa oy Cus Four-Dimensional (or 4D) Coordinates s dely ) cililaa)

250322 dxea o V4 Yore/voye Sl deadl - ||| dalue e



Apinal) dsaigl) aud Obiaay o pilall el s 6l 6l gl

(XY,ZT sl Ocg e o) o lebiha) oS Cuny araa (e b Akl adsa
oy (e priuiu g a8 sall 12l GliaaY) 0da uld (o) 0o e "0 @l 2l S
A o) 3aY) 8 Jaadilly cillaay) Lokl

O Jliiely) g ¥ o o ddati (gl a0 Joiiail 45 Hla plalall <01 Cucae (55,8 2
ok oo @l (58 ()Y

i S sT) great circle alall 5ol Al ga 831 W) baall Mas) & -
5 5533 oy ol o Bl i 8 685 A () S5

5 el il iy o (1 5 1l i 5 ()5Sl (ol M () T 2831
(€27 JS8) | laily (i s aly ey 2 i)

Caas Y1 G V) mha o a5 bghaia Laad Y0 o) a1 5 0 Caand -

3,00 Ao aradill L& gasly sy uadall G Jeadl (Radaal i dged 5) 55000

OF 3 (e ey s Longitude Jsb i a5 5300 Cuas JS5 ¢ o i

A oall Jas) Aa 0 ) (gbad O slatie aanadi k& ()Y S e die A0 )

Al iy Jsdadas 35 a0 Lewd Y0 WA 50 T Y (7Y el

e @AY A @00 il A e d Hsladl skl sy paa

e O e iy e Al gl Do g laall A8, Hhall (udig g (85 OV A

6 a8 AnBl 1 4551 50 (a (o £-Y JS8) Jshall Jad 505 (5855 e VA

e Lty 35y Jsb i Laaaal sy Gpalim (i 8 el 5 o) i) 5,000
Leld Akl Jsha bady AY)

oY) (e an s bt Lawd VA ) (Ui o) aelo) Jdall Jad s o5 -
550 (53155 (0 S e a8 Y (G (A (s all B ) e 5 (5 ka5
OS5 g (i pa Jod i apa®i LlEs (aaly Leie 35000 JS iy o) sl
OY ©) (5 shan il TS (e () sl Cppiadl (g g )Y 38 5 e Ayl 3l
Ve aging paaadl il al il sall oda e slhlg ¢ Land YA Jd&5 da )3 VAN
o) s B 5o a5 A o slul) iy 4ngin 300 A0 g el gl B il Jladi 3 il
¢ Jlas OF a3 ¢ Jlad O Jlail) dga (e Led ysbaall (impall 55005 a8l
OV G el sV Bl g Al gl i ol A8y phall iy Jedi %40 )
S sia B A8l A0 50 s Latitude gasall sl i osin 40 (e i
(6 s (B sy (b Lgabim 55 5 3 5e die Lend 5 5 Jshall g (e 30
(C £-Y dS.d.) ua‘),d\ )J\j.ﬁ L)AB‘)J\.JGA BoY ‘)Ay\ c_La” FRAR Y

250322 dxea o Y. Yore/voye Sl deadl - ||| dalue e



Apinal) dsaigl) aud Obiaay o pilall el s 6l 6l gl

Bl Ao a8 gall maas (£.Y) J8&

dowsd gaal) ol Ad) gad) ciliiaay) ¥-¥

ostany oY) 38 5e s 038 je A clilaa) aki aal s G saall clilaay) alks
Earth- <l a1 5 5-S e pldai ale g1y cllaly Ladl g oLl )Y ae 4idie
iaila 5€ 5e o ok oLl 5< 50 ECEF 1 lwsal 5l Centered Earth-Fixed
X Y)Y o) sae dnty ¢ g W) 05 e ge Z el 0 0 5me (3l e

X D5 e Lasas Oy (S EY) o) ae Laly (i ja sk bk 4l

z

A
Rt Jlosa g

S e sk lad

£l L1

X

Ld gl gl Ad)aad) cLfilaay) aUai (0.-Y) Ji

250322 dxea o Y Yore/voye Sl deadl - ||| dalue e



Apinal) dsaigl) aud Obiaay o pilall el s 6l 6l gl

0 ALl 1aa of gl ¢ cldlan) A3 ) a8 A AUl 1aa 8 Al ol a8 se el oy
3D Y

2 Al Al ) sa 5 ¢ (Y Bhai) A (A8 elb Al e 5 Longitude Jskll ba
OsSs O) W mllaal g0 Jphall hd ga ) (A0 ya Jsha lad (ol 551 5 5 (g e
A sthaall ddadill J o ok 5 (Lia o8

Al A ¢ (U Gy ¢ U el ad 3w s Latitude gl 340
303 (5 fia o Ay sllaall 2 adilly Hlall (52 ganl) clé,ﬂ\l.g_su'..‘aﬁ‘rﬂ\} ‘;_JJS\ § siall
el 5 ya Y B sl mlan o (g3 sanl) slat¥) o) JKEN 8 Jaa3h) o giud)

_(LA‘}SJAQZJSJ\GE....:‘*AQ ‘T.gdj,ui\ ‘)A.JKL:\AB‘)SM:\JBL}QSQ

gLV 5l o o) g L&YY sy g B el Ad a5 3 sV mdas (e gL Y
Geodetic or Ellipsoidal Height (s ssad¥)

N /
Lwpd gl gl 4d) aad) cifilaay) (1-Y) Js&

W il (sl 5050 5 Jsdall dasdad (e youmil) 6 daddial) Clas gl ok ac a5
a5 (O s Aaall Say) Aaa Ve ) ALK B yilall sl 5 dad s ¢ il Cilas ) ol
AEAN) aned LEaY o8 (" o8 A8AN ) 388N ewy agie NS 6 3 Ve ) Aa ) s
30° Jshll ha 1JAaS (" oo Al e ) AU agie n)l pansy o 5 T Baa
0583 Al oY ¥ pAEdy €0 yds 0 ¥ aie ALl oda adge of 45" 52.3"
cot S (E sl 3G Al Lyl ) iy Jsb s 3,5 Ll Jshall o plad
Jead Lal () 558 (m yall il gl oty Ll (W 5l & apa Al Lgd e ) (i
Al Led 3w y) el sVl s asin o (N sl (3 Capa A8laly L) e y0) ) s3] 5yl

(S z

A g 8 cldilaay) ¢ -Y

sl A sl cililaay) JUsi Spherical Coordinates s SH cildlaay! ol 4y
sl 55,S) ga L o pall mhan )l G s Vi da®s sl g Cadlial 8 YT A jaal)
b e 53 gaad) oLaB o (@ G all 550 el Aall) S 8 Baadly 3 peasdY)
208 a1 3 gV o e (50 5anll jar ¥ i by sV Al uSe Lo S ey e 3 SN

250322 dxea o YY Yore/voye Sl deadl - ||| dalue e



Apinal) dsaigl) aud Obiaay o pilall el s 6l 6l gl

il

iy sl las

al}h?lgjhu ¢

;Ijamy\ggjme)M\

Ay g Sl cilgdlaay) (V-Y) Js

A Sl o A A g A 35 ) Ad gonl) o) 0.

O ey 400 W1 Ay gaall LAY Aldil 4dy 5 (b Lals e ) oLLs s
alany Lo (Do all) dpinte Gl g (Lie s lSI gl 5ially (gl) A sha ) S5 A5 a3lfilaa)
) G 8 8 ) Allall 5 S ﬁj‘agw\&uu}qu\@dHi
Cartesian Geodetic 458 K dp guall Sldlaay) JUail Jua¥) ki | yhe
Jsbll ba (5 e adal@ e Lisy X Js¥) o sna 5 o)) 35 » 4 Coordinates
WXJB&Q%JM‘FY@E}‘DJ}M} c\)h‘i\ﬁ‘)i\dgj&fneauﬁigﬁju\
MJ@JY\ Jﬁﬂﬁcﬁﬂ\}uaJY\ Q‘JJJJHH Z (wu\)j\) PG | J}AAS\

X, Y, Z ldlas) D 3 JS a8 ge o juma g Gudadl)

S

4 30 S Ao gl cilllaay) (A-Y) Js&

250322 dxea o Yy Yore/voye Sl deadl - ||| dalue e



Apinal) dsaigl) aud Obiaay o pilall el s 6l 6l gl

iy g Jagadl) 1LY
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(&, A, Adaad) 5l Ay pall lEAY) Uy I ¥ aladl) e gene aladinly (Sey
(X, Y, Z) Aol dn sl cllilaay) ) h)

X=(c+h)cos ¢$cosi
Y =(c+ h)cos ¢ sin A (2-1)
Z=[h+c(1-e%]sin¢

first s¥) 43S 4l i @ ¢ radius of curvature LSl jhd Caai cawy © s
(S Leglua &5y 5 @cCeNricity

- a -
‘ /\ll—ezsinzgzﬁ (2-2)

and

e=+va’-b?/a (2-3)
(P.S: use the precise value of T = 3.141592654 )

Example:

Compute the Cartesian coordinates (X, Y, Z) of point A whose
geodetic latitude equals 30° geodetic longitude equals 31°, and
geodetic height equals 20 m.

Use the WGS 1984 ellipsoid whose parameters are:
semi-major axis (a) = 6378137 m, and
semi-minor axis (b) = 6356752 m.

Solution:
e=[V(@*-b?)]/a
= [V (6378137 2 - 6356752 ?) ] / 6378137

=0.081819791

a
c=

V(1 -e*sin¢)
= 6378137 / (\ 1 - 0.081819791? sin” (30) ) = 6383480.996 m
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X=(c+h)cos ¢$cosi
= (6383484.903 + 20 ) cos (30°) cos (31°)
= 4738655.726 m

Y =(c+h)cos¢$sini
= (6383484.903 + 20 ) cos (30°) sin (31°)
= 2847271.613 m
Z=[h+c(1-e%]sin¢
= (20 + 6383484.903 (1 - 0.081819791) sin (30°)
= 3170383.461 m

%J}.\; Gldlas) sz\ 2\_\)43)15.5\ GLAlasY) Jo gad Y-T-Y

Shaseagall aldaay) A (X, Y, Z) i du gl iy e Jy gl
Al ¥ aleal & Jiahy Jlall aali (¢, 4, h) Al sl

tanA=Y /X
tang =[Z /(X +Y?)]/[1-e’c/(c+h)] (2-4)

h=(yX? +Y2)/cos¢)—c

OGSV h 5 ¢ el Clua apkain K1 0 dad 4 yral zlias Ll ci¥aledl) 2 8 Jaadl
O sl 1aa s iy GlIALG | ) A 48 yaad lia Lald Yo Y Alilaall (e € Ao ol
O ol Bt A 8 A el alaai T Cuas ¢ terative Al S sy ylay (o sail
b 333 A Leta ruail oha € dad 2al o5 0 Sl Hdad Chadl Ay 58 dad Cauad
Cied (o Significant s s> G8 Gl 2sa s pre ani G () Gl pall e 22211280

B ol B A il

Example:

Compute the geodetic coordinates (¢, A, h) of point B whose
Cartesian coordinates are: X = 4713650.570 m, Y = 2888528.784
m, and Z = 3170398.735 m.

Again, use the WGS 1984 ellipsoid whose parameters are:
semi-major axis (a) = 6378137 m, and
semi-minor axis (b) = 6356752 m.
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Solution:
tanA =Y /X =2888528.784 / 4713650.570
A= 31°30' 00"

Set approximate latitude as = 29.5°

[V(@%-b?)]/a
[V (6378137 % - 6356752 %) ]/ 6378137 = 0.081819791

Iteration 1:

c= 4
/\ll—ezsinzgzﬁ

= 6378137 / v ( 1- 0.0818197917 sin® (29.5°) = 6383320.073

h=(/X>+Y?) Jcosg)—c

= (\ (4713650.570° + 2888528.784% )/ cos (29.5°) - 6383320.073
= -31549.221

tang =[Z /(X +Y2)]/[1-e’c/(c +h)]

= (3170398.735 / (\ (4713650.570% + 2888528.784% ) /
(1-0.0818197912*6383320.073 / (6383320.073 -31549.221)

¢ =29°59' 19.55"

lteration 2:

c= @
\J1—e’sin’ ¢
= 6378137/ (1- 0.081819791% sin? (29° 59' 19.55")
= 6383481.266

h=(yX? +Y2)/cos¢)—c
= (\ (4713650.570° + 2888528.784%)/ cos(29°59' 19.55") -

6383481.266
=+103.319
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tang =[Z /(X +Y2)]/[1-e’c/(c +h)]
= (3170398.735 / (¥ (4713650.570° + 2888528.7842 ) /
(1- 0.081819791°*6383481.266 / (6383481.266 +103.319)

¢ =30°0'0.0"

lteration 3:
c= @& — = 6383480.997
J1—e“sin” ¢

h=(yX? +Y2)/cos¢)—c = 49.989
tang =[Z /(X +Y2)]/[1-e’c/(c +h)]

¢ =30°0'0.01"
And so:

lteration 4:

c= a = 6383480.997
J1—e’sin’ ¢
h=(/X>+Y?)/cosg)—c = 50.078

¢ =30°0'0.01"

lteration 5:

c= 7 ———— = 6383480.997
J1—e“sin” ¢
h=(/X>+Y?)/cosg)—¢ = 50.078

¢ =30°0'0.01"

Stop the iteration right here, since there are no changes in the
values of both latitude and height.
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So, the final geodetic coordinates of point B are:

Latitude: ¢ =30°0'0.01"
Longitude: A= 31°30' 00"
height: h =50.078 m

Jaif &) Jalis) V.Y

Gldlaay) o sl (e LS Al Avialy I Lkeall 58 Map Projection Ll Al Llau)
stV 5580 s (W) ey 2 e el JSEN (LS 6 s - )Y ana e
@l) ity AN 55 6 sie mhaw o e clilaa) ) (sl A6 cldlaa) )
Lleall 58 1 AT e 51 (Grid Coordinates &Sus culilaa) gl dlas¥1 4508 cildlas)
Shaa¥l 5 Bl SaaVl ) adgal (i pell 5 5ils 5 Jdall Jad ad e (e LS )
Lyl ddee e il JSG ey Aday Al o o sall 138 2 il s sllaall el

Ll
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(= Adyyh gl & "Distortion esdill " dse Lo llia ¢S (K15 4S5 ) gumy (4day 3)
S gl sanly e Jailas of il Hal Jalawy dabiaall el Jglas Jail jall Lliu) 5,k
Y g al s e)iday all o 4 a5 (V) e sl Gaagd) o U (ailiadl)

clabud) b il -
Clilsdl 3 i -
clalaiy) & s -
‘:‘UJ‘Q&“—H -
iy b s -

A gl cliloeall Jails s pansty clilcal) e Jadlat i) iyl gl sl (mey cllia
Glalies 3 S Lo Ll 35 QS e Lilas )55 Equidistance Projection
& phaiud G, a 5) Conformal  Projection Jiball kailus e s 83 5aas
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‘Mercator Projection ) siSs e Jatue
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Sheet No. 1
1. Define Geoid?
2. Define Ellipsoid?
3.  What is the relation between the geoid and the ellipsoid?
4.  What parameters define an ellipsoid?
5.  What are the types of coordinates used in surveying?

6. Compute the Cartesian coordinates (X, Y, Z) of point A
whose geodetic latitude equals 30°, geodetic longitude
equals 31° 30', and geodetic height equals 50 m. Use the
WGS 1984 ellipsoid whose parameters are: semi-major axis
(a) = 6378137 m, and semi-minor axis (b) = 6356752 m.

7. Compute the Cartesian coordinates (X, Y, Z) of point B
whose geodetic latitude equals 31°, geodetic longitude
equals 32°, and geodetic height equals 100 m. Use the
Helmert 1906 ellipsoid whose parameters are: semi-major
axis (a) = 6378200 m, and semi-minor axis (b) = 6356818.17
m.

8.  Compute the geodetic coordinates (¢, A, h) of point C whose
Cartesian coordinates are: X = 4712987.099 m, Y =
2866960.649 m, and Z = 3190719.116 m. Again, use the
above WGS 1984 ellipsoid.

9. Compute the geodetic coordinates (¢, A, h) of point D whose
Cartesian coordinates are: X = 4663410.023 m, Y =
2915479.860 m, and Z = 3219461.619 m. Again, use the
above Helmert 1906 ellipsoid.

250322 dxea o v Yore/voye Sl deadl - ||| dalue e



Apinal) duaigl) aud Obiaay o pilall el s 6l 6l gl

Gl Jaadll
ag <) ity
dadia )Y

& oman zling mhaudl 13 () Can ()W el xhaudl e Glluall o) ja) Garaay
e albuall sda o aa s LS | 35aall 5 lleall Parameters daslaall (e laa S 2ac
Gt dpaly ) clidle 5 ¥alae Jlexind ) zling (2 smnd¥1) Sl ()Y ausa
638 g ) (Sl (=Y auae mlas e Gl G Blas) ol ¢S laga
@A Waall i ¢ Caliall Wsy e 180 sun ¥ Gl S je 8 Sl mhand) e
Jlarins) Wiy @iy 5 a3l cililee e Jeinall Wadll (e a3 ¥ BELY! 138 (e cansy
pany 48 e Ude g ULy () mha e clluall o) ja) die 4y U Bl

Ccliiall s2gd (ailiadl)

b e sl sl mhadl) sl mhan e Ll Galiall oy 483l 4 50 xie
aa g Caliall 135S e (A Y] s e 158 s e L) Gl 5 (G
Glidl jualic e 188 i Y 5 )S) xha o gysedY) Gl gy Lliy)
Gl | aa )l e (& A jlall clad¥) Alladl s 8 ) Unddl Jalays ¢ Sl
L gl e W) (e LIS A spherical triangles 4 )S)) lliall da ac) 8 Caeasiul

A Sl Bl aladi) Leae il Y )5 dalid) 5 sl § ddau siall

s A Sl clilial) B Aaly iy jlas

L3S e ey s sty 3_SI adalis (e i ) B ilall o o adiel) 5 i)/
o 38 ms s Y g siuna 8 S @l (e 35003 S (08 105 phall 5 4700

e—LH-A@LS)-‘\ﬂ\ )—‘Jﬂl-i‘d)jajﬂgj 6‘?.4\35 B)S\qu}g}?:dﬁ/ AN AR
- Soall die Leilsy Al 415l g sl s claaY)

250322 dxaa 3 vo Yore/vaye Sl deadl - ||| dalue 5 jie



Apinal) duaigl) aud Obiaay o pilall el s 6l 6l gl

@J\J\MWM‘U:‘JDJM‘L»J‘J\G‘B L;‘)S//;Lﬁaj/{.jju
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Adalaall (e 2SI 30l 5 Gl Sy
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BSH ki Cacai R oSl Giliall dalin S 1dua

(;Ak; )3\}.3

A spherical triangle is a closed figure formed on the surface of a
sphere that is bounded by three arcs of great circles.

1 SN Guliall da gk Y.Y

(6 s el o o g pall (6f A sianal) BB il 8 e (g SI) Gl (il B Calias
lies Al g ‘L;,M JCalial \JL;;M? Ay Ly A8 :‘).u.aucz\i.ugg‘)ﬁ\ calially g
& sana s cliliaall g J)shY) Clas gy Gadly A5 @HEAN 5 Cila al) Silas gy Y]
.360° o Jil g2V & ganas 540° (30 Jil5 180° o ST 55 < Culiall U

Clilial)l Cla ol 8 G eclaally S (55 S i) g3l s W) e IS O Ly
88K il g8 A5 S AN 5 3 gial) B s il @ e L e g3 calids g 5 S
Ao el
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Case (1) : When 3 Sides are given
Cosine ) sl Gusas 3acld axdin (Caliall b Ozl EOE 4 slaall) “‘*f‘ Y
» 4l (law

cosa—cosh.cosc
cos A=

sinb.sinC

Case (2) : When 3 Angles are given

: AUl (Cosine law) plaill o gan Bacld andtis Allall ol A

cos A+cosB.cosC
cosa =

sin B.sinC

Case (3) : When 2 Sides and the included Angle are given

058 O e Cphan gl B cpd skl s ae Bacldll G aladiuly Y1 Al e

cosa = cos A.sinb.sinCc + cosb.cosC

Case (4) : When 2 _Angles and the side between them are
given

O5S Gen Miad gl 8 ikl G ge 520l Gl pladiuly 4l Al e
0sSa dalls C ¢ B ol 3l aslasl)

cos A=cosa.sin B.sinC —cosB.cosC

Case (5) :When 2 _Angles and the side not between them are
given

: SUlS (Sine law) csall sae sy abiall Clua WiSay Alal) o8 A

Sin A SinB _SinC
Sin a Sinb Sinc
toabEall Glabiall g Gl o) ) Ll sy ALl 3ac W) alasiu) ey
a—b

Cos
tan A+B = 2 .Cot%
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Case (6) : When 2 Sides and the angle not included are given

+ IS o glaall aloall AL 2y gl 3 Clun (Say ALl AL LS
Sim A SinB SinC
Sina Sinb Sinc

roablEall Glabiall g ol o) ) Ll raay Al B2 Gl aladiu) dey

a+b
tan =

Case (7) : When aright angle triangle is given

Napier's diagram _xb el 44 g yzall 3aclal) PRSIV A s WSa Al oda <

A8 i) ) (2 yiy) b e aiti saclal) ol e Jpeand) (Say Jin g ¢ Calia) 138 Ja A

(B Al

i) Jaky 5 aas i L)

510 (el 0 3000 38 e Gy Und Lebal 8 J ol ()5S0 5 aludl dsad ) 5 0all sy Y
aly hial) (landll 5 aliall 138 anls & MY (e lalia (e and S an s . Al
Lol yall oy g) 30

LAl alia lae L 490 (e bl B jeaie JS ok ¥
L O B Ayl Al il Ja i €

sina = tan €.tan(90 — C) = cos(90 — A).cos(90 — b)
D05 ALl B Al an )y 22 dale B2 liS 4l

sl (o peaiall Jl g e = 5l jeaie ol o
Ol (p painl) ol s 5 puae
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¢ oSN Eudial) Aalo b FoY

S« 5180 (e ST Ll S8 g Al sl 5y e Jgeanlly g SU Al Ja any
L 0553 (SN Calial) Al

" x sl sl 3, KU sal 3l = (5 SU Calial) Aalise
Area of spherical triangle = spherical excess x (17 /180) x R?

0585 i gyl 5l Lgie agey A8L) saclall 6 4 S sal ) ded of Badly
LSl e

Example (1)

In a spherical triangle ABC, if a=75°; B =110° and C = 85°
Calculate A;bandc?

Solution
D lagin ) sanall aliall g Gl gl ) @abad) Caliadly a sleal)

cos A=cosa.sin B.sinC —cosB.cosC
2 OsSo Al dalaall (e
A =74 13 166" (1)
2Ll Gl Wal () oS Ealflally AAIEN 45 5) 511 dal Cluss 2y

Cos b — Cos B + Cos A .Cos C = _0.33205

Sin A . Sin C

b =109 15 95" (2)

c=90° 20" 359" (3)
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Example (2)

Given a spherical triangle ABC, where a = 165° ; b = 100° and ¢ =
75°

Solve the triangle to find it unknown three elements ?
Solution
1058 Al Bac &) alasiinly s ¢ Sl LD Gyl Calially o sleall

Cosa — Cosb.Cosc Cos 165 — Cos 100 x Cos 75

Cos A = - - = ; :
Sin b . Sin ¢ Sin 100 x Sin 75
;‘“,;Jl;'dlSAZ\,U\J'Z\.A_.ﬁ#J:_ J panll WiSay dal) Aalaall (ga
A = 165° 29" 147" . (1)
AC PR\ <;—°‘L‘4_»J° J paal) L 3ac ) u»ése\qshl_u Jiadl
Cos B = Cosb — Cosa.Cosc - Cos 100 — Cos 165 x Cos 75
Sina.Sin ¢ Sin 165 x Sin 75
B =720 22" 414" (2)
Cos C = Cosc — Cosa.Cosb - Cos 75 — Cos 165 x Cos 100
Sina.Sinb Sin 165 x Sin 100
C =69 13 57.8" (3)
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Example (3)

Given a spherical triangle ABC, where a =1°; B =45° and C = 90°
Solve the triangle to find it unknown three elements ?

Solution

0S Rdl 5l aas y 2my Adle a0l 5 2yl 3 A )
wjjw\w)@ﬂ\&uj)m:cj\ﬂ\uﬁwg\&_\g;

:}i

Ol (g i) alad a5 e =
Sin (90-B) = tana .tan (90 —c)
So, 0.707 = 0.0175 Cotc
c =01° 26' 594" Ll (1)
Sin b = Cos(90-B) .Cos (90 -c)=SinB.Sinc=0.0175
b =00° 59" 572" (2)
Sin (90-A) = tanb .tan (90 -c)
A =45° 02" 418" (3)
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Example (4)

In a spherical triangle ABC, if a=123.8°; C =67.2°and ¢ = 90°

Calculate A;band B ?

Solution
D OSS saal) Bacld aadily

SinA_SinB_SinC
Sina Sinb Sinc

=0.9219

Do S A Il el s LiSad ¢ g pliall 4 4 glaay
Sin A = 0.766 (Two possible values)
P sl (e dllia (8 s ge Al s A Ll il inay

49° 57' 16.3" &
180° - 49°57'16.3"= 130°02' 43.7"

A
Az

el o s A Bl s gl 0 Aaanall Ll (& chitasil) (e 5l 2l
¢ ol LS DA 30 Oy o oy paeeaY) el g L1 A 5130 Ol o can SV

C—A; = 67.2-49°57'16.3"=+ve & c—a=-ve (Las x)
C—-A, = 67.2-130°02'43.7"=-ve & c—a=-ve (=)
A = 130°02'43.7" . (1)
1058 (b ¢ B) a8 AL adl) o J puanlls
Cos a-¢
tan A+C = 2 . Cot E
2 Cos a+c 2
B =53 07" 343" (2)
A-C
Cos
tan ate = 2 . tan R
2 A+C 2
Cos 5
b =60° 09" 170" (3)
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Example (5)

In a spherical triangle ABC, if a = 43.33° ; b = 48.5° and A =
58.67°

Calculate B;cand C ?

Solution
D OsS all Bacl8 alaaiul

SinA_SinB_SinC= 1.2448

Sina Sinb Sinc
b WS B Al )l dad Clua LS ¢ b aliall daf e slaay
Sin B = 0.9323 (Two possible values)
POl e s ()l dus se sl 50 s e Lalls il inay
B = 68° 48 12.5"
B, = 180- B;=111° 11" 47.5"

eall f e si G Bas il alasialy 5150 Aspmall Aedll & Oiadl (e (s 3 nal
SV A 30 i of aag SY

a-b=4333-485=-ve & A—B;=-ve (Aanaiad)
a-b=4333-485=-ve & A—B;=-ve (Aanmaidd)

(B, By) a5 da s O3 ALl o iy 138
oM Gl yalie AL e Jsanlly

Cos a-b
tanAJrBl: 2 .CotQ
2 a+b 2
Cos
2
C, = 70° 33" 533" . (2)

Cr eball coni ¢ A By, G Lls adil Lial (65 cbiall
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Cos C, + Cos A . Cos B,

Cosc, =
: Sin A . Sin B,

ci = 49° 14' 46.5"

........... (3)
058 B sl Al Aadll e (ym el
a—b
Cos
tan A+B, = 2 Cot ¢,
2 a+b 2
Cos 5

c, = 11° 32" 154"

........... (3
ool LS il cylall (e B sllaall yualiall Gasils (S

Reg. Angle B C c

Solution1 | 68 48 12.5 |70 3353.3| 49 14 46.5

Solution2 | 111 11 475 |14 24435 11 32 154
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-dg <) clitial) Ja Ao cliydat £ .Y

) Sl Ul claphad) aal e (V) mhas Glo Ll G clibid) Claa iiag
Glua die g ¥ 4y S JlieY) 8 335 Gua (L Ddlalls oulal) Gadail) 58 yiny
o) il Lela oy 4y € Clilie V) mdas oAbl cliliadl Jasy Lee i) 538

(UL hgy aldl) culindaill any i lad g Gl o3g] A8

aalg ga e bid o (i Y il o dblaal) 1 6N Al

Costhall ()5S0 gy Aabud) Jlae 8 cplaball Q& i) dalall Aall diad Ala)l o3 g

AL Allall o3 pra ging 3al s Gimse ad o (el Y il ¢y ddlaall e J saanll
Al

Example (6)

An airplane flying from town A which having its latitude 55° 45 N
and longitude 37° 43 W to another town B which having its
latitude 40° 43" N and longitude 73° 59 E. Find the shortest
distance between the two town A and B ? (R = 6370 km)

Solution
P 058 JU el e

a=90" - ©;=90° — 40° 43" = 49° 17"

b= 90° — @, =90° — 55° 45'= 34° 15"
P=h, + hg=T73° 59" +37° 431= 111° 42°

(Equator) ol i) Jad

D U8 B geana Ayl 5 lalia o shaall ABP Gl (& o Lia el 1) g
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Cosp=CosP.Sinb.Sina+ Cosb.Cos a

From the above Eq.: p=67° 35' 32.1"

D 0sSe e sbSIL vl Adlall Cliad
The distance AB = p x %xR = 7517.76 km

Example (7)

An airplane flying from town A =(30° N ; 10° W) to another town B
= (45° N ; 10° E). Find the shortest distance between the two town
A and B (30.94 m on the earth's surface subtends 1 at its center) ?

Solution
0SS G anl) e

(Equator) el Y das

a=90°— ®,=90° —45° = 45°
b=90° — ®, =90° —30° = 60°
P=0%, + A,=10° +10° = 20°

8 seana Ayl 35 Qlalia o sleddl ABP lial) b (o s geal 51 (a9
Cosp =Cos P .Sinb .Sin a + Cosh . Cos a=0.929

From the above Eq.: p=21° 43' 28.2"

1) 230,94 diE 38 pall (8400 IS o ALl e glae e
AB = p (by sec) x 30.94 = 21.7245x60x60x30.94 = 2419.3 km

The distance AB = 2419.76 km
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Example (8)

In example (1), What is the geodetic area enclosed the spherical
triangle ABP when the sphericity of the triangle is ignored,
calculate the percentage error ?

Solution

dalid) Clua Yl cany « & sinaall Ealiall dabise b 2 Uasll 4, gaall dunall ol
! (A< Addal)

T x sl il 3y S0 saly 3N = (5 SU i)l dalie
Area of spherical triangle = spherical excess x (1T /180) x R®
(s ¢ Gliall Lly) ama clua sy (Spherical Excess) 4 Sl sab 3l sl
sl eda iluas Jgla) deDlal aas 48 jre 22y Gl il Ul 55 o Jsandl dedl
(o
Spherical Excess (E) = (P + A+ B)—180° = 15° 42'37.2"

Area spherical triangle = 15° 42' 37.2" x %x(6370)2
= 11,130,540 km?

10a ) A9 S Jlaa) pa dalial) dabase Glaa ;L

Ssh o Jsanll liSey saclall i alasiuly s AB Jshll e Ulaas Gl JUal (g
1 IS (5 sinaall il g Slal ) shaf ()5S Gl i)

The distance AB = p (radian) x 6370 = 7517.76 km
The distance AP = b (in radian) x 6370 = 3809.36 km

The distance BP = a (in radian) x 6370 = 5481.40 km

aslrall (5 il Cafiall dalie Clua oY) LiSey Ciliall & giall JIshY) lun 2ey
- AU ol Al gl

The Area of plane triangle = \/S(S-p)(S-a)(S-b)
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S =8403.26 m
Area of plane triangle = 10,003,028 km2
© 055 Aaluall Clua a Unall 4 i) dpeall e J gaanlly

Thedifferenceof two area

The percentage error = ,
Thesphericalarea

The percentage error = (11130540 - 10003028) / 111730540

=10.13 %

Ay oa e hi do il o dleal) Gl 1 ASUY AAY

¢aaly e bd e Legin dliall Cilia ) el cpidail) ) 65 o (a1 oy & sy
OSl s Al (g S Cabiall ae ) B aladiuY ey Y adl cpd Gl s die g Al o2a
P A Aapally Ll (S Aale sacl aladin) Allad) o2y 8 LiSay

x ledsh i G LAl G Juals = Baaly (e B b o gk o o ALl
V) Sl Ciual X (el 5 alad Cas

The distance = R . AL (11/180) . cos ¢

Example (9)

Find the distance between two points A (45 S, 35E) and B (45 S,
40E) where radius of earth = 6378 km ?

Solution

Liay il ¢ aaly e ha o olady lagl (ihaiill (aje daghad (e ol )l (e
D AU ALl Bac ) aladin)

The distance between two points =R . (AX) . Cos ¢
Where :
A=5°, R=6378km, ¢=45

S5x1

The distance AB = 6378 . ( ™ ) .cos45 = 393.11 km
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Example (10)

The distance between two countries in the same latitude 60 N,
when measure long parallel latitude was to be 150 km. Find the
difference of longitude between the two countries ?

Solution

The distance between two points =R . (AL) . Cos ¢

Where :

The distance = 150 km , R =6370 km, ¢ =60

_ The distance 150

AL =
R .cos ® 6370 x 0.5

= 0.047 Radians

Al = 0.047 x 180 =2° 41" 574"
T

The difference of longitude = 2° 41' 57.4"
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Sheet No. 2
1. Define:
a. A spherical triangle
b. A great circle
c. The spherical excess
2. Calculate A ; b and c in the spherical triangle ABC, if
a=70°%B=100°and C =80°"7
3. Calculate A ; b and c in the spherical triangle ABC, if
a=85%B=120°and C=70°?
4. Given a spherical triangle ABC, where
a=155°;b=90°and c = 80°
Solve the triangle to find it unknown three elements?
5. Given a spherical triangle ABC, where
a=140°;b=95"and c = 88°
Solve the triangle to find it unknown three elements?
6. Given a spherical triangle ABC, where
a=2°:B=45°and C =90°
Solve the triangle to find it unknown three elements ?
7. Given a spherical triangle ABC, where
a=3°;B=50°and C =90°

Solve the triangle to find it unknown three elements ?
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Sheet No. 3

1. An airplane flying from town A which having its latitude 45°
35 N and longitude 37° 43 E to another town B which having
its latitude 35° 33 N and longitude 73° 59 W. Find the
shortest distance between the two town A and B ? (R = 6370
km)

2. An airplane flying from town A =(35° N ; 10° W) to another
town B = (45° N ; 10° E). Find the shortest distance between
the two town A and B (30.94 m on the earth's surface
subtends 1" at its center) ?

3. Find the distance between two points A (35 S, 25E) and B
(35 S, 40E) where radius of earth = 6378 km ?

4. The distance between two countries in the same latitude 30
N, when measure long parallel latitude was to be 400 km.
Find the difference of longitude between the two countries ?
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Clilial) cilCud Alia WY -8

bl ol aladind e (o) W) s 8) cHlll) CUlSed il adiad
@) Ll g3l aladid ae Gelial) sacldll lad e cilbeall fag G Lyl 30 gl
o s & gunall g 30 JIshl e 555 L5 3 Aad o e 138 Jug v 82 50m54l
sl aae strength of network 4uil) 4liey auady 5 + A< Lala daitiuall CLilaaY)
oA A 5% of JBY) (el o saad) 3ae 8 aladi) Aagi 4 suaal) J) kY1 A8y
JU LAl 5 asenat 8 Lealadiud 21y Ay 5 4o A50d) aal 5 o Lgn La gana 250
s i s o JCaT Bae g A0l ol caaa ) Alee J8 i) CSWEL il
aalut LS | triangulation Ll ) dudaall 48l cilSull) aranai 8 Jald ardiud A3l
Apuaighl il sV o ) baa ) il slaa ;Y1 aae aaas 8 Liaf 400
A8 e 3al e s 3 IS (A (3250 sall a3V

Ay Jal gad) o A0S Ailia dad aalad

v(22) 58l Lo gl J)shai 5 Ll s 3l1) Sba Y 48 -

VOV 50 Y G Wl gl s o Q) Ll 3 ded -
18 gea pall Al 22 -

VAL dpuigl) L pdll axe -

OB B o daadtiual) Gl 2ae -

OSash ¢ A8 o S8 aan ) el bl i) 3l o ST sl i Al b
¥ ol ol Calie oy b JUSE +dpunigh dag pall (any 4 i) g5 JSEN 13 o Ja)
O Jsii Al o2y ) g5 I3 ¢ (& v Ayl 5 cpalin ) s ) ) Ja S

ALEST e 1Y i Ja i cllia

:M}id&\;g‘y (Cr) il oy i) sae Clual dalall saclal) ) &5 elly
A Il a5l Ay 5 yuall a1 a2 — Aladl) sla ¥ dae = dag il aae

C,=0,-0,
(T
B3 geayall L5511 22 Op
Yox (V- Ll aae) = 40a) ol JSa) ad il 4 ) 5 peall sla )Y 22 Oy

O, =2(n-2)
- YIS (St) Al Alie Jalae s i

S, = YL N6 80,40
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where:

Y - 8 gea pall lalady) dae ‘553 ¢ Aladl) ola YY) 22e O
Oy, =dirctions -2

) is 6th decimal of the change of "log sin" corresponds to 1"
change of an angle.

i.e., for an angle a:

8 = [ log sin (a+1") - log sin (a) ] x 10°®

(P.S: use the precise value of T = 3.141592654 )

loay A8l 8 5aelE ad 1) J sam ol Aliaall ol jlosal) 4 jlial Aial) o alae pdiiad
sl cllaa 8 daladinl oyl (fiel) @20 dans Cangs @lldg ¢ J5Y) sac ) bas (4
2 3 Sluall LS LS Al Jalae J8 LalS adls jlie (e 38T 45 i 2l 5 g DY)

Om s is ¢ aal gl JSEU Yo = 4 2 sanal) Al Jualaa (L ddle 300l 5+l
VAl A A

Example (1):

Find the best path to compute the baseline CD from the known
baseline AB?

Solution:
153 guaa yall Ll g 30 2ac Op
0,=8
Oy =2(n-2)=2(4-2)=4
C;,=0,-0,=8-4=4
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'Y - 33 g pall ilalanl) dae Lﬂ;i ¢ Aladll 2la YY) 22e O
O; =directions-2=12-2=10

Of?yé —(10-4)/10=0.6
!

Path 1:
Step 1: From known AB, compute AD
Step 2: From known AD, compute CD
Step 1:
So, Let us start with the triangle ABD:

Angle 1 (faces the known AB) = 42°,
angle 2 (faces the required AD) = 59° + 24° = 83°

log [ sin (42° 0" 1")] - log (sin 42°) =
- 0.174486766 - (-0.174489105) = 0.0000023 = 2.3 x 10°°

s0:01=2.3

log [ sin (83°0'1") ] - log (sin 83° ) =
-0.003249032 - (-0.00324929) = 0.0000003 = 0.3 x 10°®

so: 02 =0.3

Therefore,
> (8124818,+8,%) = (2.3)° + 2.3 x 0.3 + (0.3)> = 6.1

Step 2:
So, Let us start with the triangle ACD:

Angle 1 (faces the known AD) = 33° + 32° = 65°,
angle 2 (faces the required CD) = 34°

log [ sin (65° 0" 1") ] - log (sin 65° ) =
- 0.04263089 - (-0.042631871) = 0.00000098 = 0.98 x 10°°
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so: 61 =0.98

log [ sin (34°0'1")] - log (sin 34° ) =
- 0.252281481 - (-0.252284602) = 0.0000031 = 3.1 x 10°®

S0: 62 = 3.1
Therefore,
> (84%+818,+8,%) = (0.98)? + 0.98 x 3.1 + (3.1)°=13.8

Similarly, Path 2:

Step 1: From known AB, compute AC
Step 2: From known AC, compute CD

Therefore, the final results will be:

Path 1 Path 2
Triangle | Angels | >(8,%+8:5, | Triangle | Angels | ¥(8,%+815,
1,2 +8,7) 1,2 +8,7)
ABD 42, 83 6.1 ABC | 32,59 17.2
ACD 65, 34 13.8 ACD | 80, 34 11.0
Sum 19.9 28.2
St=19.9x0.6=11.9 St =28.2x0.6=16.9

Thus, path 1 is more strength and more precise than path 2.
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Example (2):

In the next figure, find the strength factor of figure from side AD to
BC?

oo S et § cerafe S )
D E 7 C
S
S
H
A F G B

Solution:
g G IRGR WA hiwéﬁaﬂd%}l\wﬁigﬁﬁ&u\ N (e

HCB ¢ HGB ¢ HEG ¢ EFH ¢ DFE ¢ ADF <ilial ;J 61 juaal

S e S e S
TD C
i 2 4 6
s
A F G B
Iy Cial)
Triangle | Used Angles S(812+818,+8,°)
ADF 45° and 90° 4.4
4l AT

S(8:°+818,+8,°) =6 x 4.4 = 26.6

HCB ¢ HGC ¢ GEH ¢ EFH ¢ DEF ¢ ADE <iial) : ) jlusal)
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-JsY) calidll
Triangle | Used Angles | 3(5,2+815,+5,%)
ADF 45° and 45° 13. 3
da) it

>(842+815,+8,°) = 6 x 13.3=79.8

Leie 050 A Al ARl a1 3 gandl 8 J8Y) Al dawy 3 jlsall jliss o5

S, = (OT—C%T VS (67 +6,8,+062)

Or = 32-2=30

C, =0, -0, =30-18 =12

Thus,

Sk =[(30-12)/30 ] x 26.6 = 15.9

daclall (galad oF ¢ sl
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Clilial) Sl My (B (3 grd) £-Y-¢

3 Y alasinly GURL SIS s daa ) da g y3 o inter-visibility adabiiall gy 1) aas
lde 4 APE PR e 2<lal) o af ey (AL Adasall g s gAll) &y pall
Lyl (B 0 ) il sall Jading clilial) Jalas oy ydaill ol $e3 Obstructions
-alalyial)

Oibadill O guia 54 -

Cpilasill cp ddliall -

ol G ol o Uadll e ()Y calia -

casY A5 S -

sl LSy -

L o Lala) capie Jabisi g 4 ) gl ol jal) (asd oy (33 sl bl il ol
oY) QLB Adadi st QIS I dade (o (350 35n g A8 e g ilals JS (g kil
2oy Laghay haal ) Tadll e e aasis hy s 41 LB Al Ciguaias g 5
o2gd i) peadl Cln (K Al Al e gy Al 5 Y Ak ce dy Adlue

AUl Aalaall fpe hgpgp Bl b Saad Y Gy dall

d
Nose = Ny + (N, =, )( /dl +d2)—0.0675d1d2

sl dy, dp e ol 5 YL hy, hy e OIS Ge i gaill ol Cus

Gile dgagpre o Jayligd iyl Lo suia (e ST hgpgy Adall gLl LS 138
Liedll) sl el o guie (e JBT g Al gLa ) IS o Ll laill Jad (oa ying
Aallsda byl i (Gaed Cogan el o2 O o Jy 1368 (4 i€l dday 53l (g
il \tuzj\uﬁé)ﬁ\gjm‘mu:)\QQ@;&\Q&M\M&}towercﬁhwe@

(BB ks o Aaldal) Ay ) o yh

2
\
'y
! h
2
ﬁ N obst
hy
s d4 4z
4 N
Mean Sea Level (MSL)

Aalial) 43 ) (0-¢) J8&
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Example:

Check the inter-visibility between the triangulation stations A and B
whose elevations are 320 and 1370 m respectively, where the
distance AB equals 87 km. Knowing that there is a point C whose
elevation equals 562 m lies on distance 29 km from point A.

h1 =320 m, h2 =1050 m
d1 =29 km, d2 = 87 - 29 = 58 km

d
hobst = hl +(h2_h1)( /dl +d2)_0'0675d1d2

s =320+ (1370~ 320)(2945) - 0.0675x29x58 = 556.5m

Since hyyst is less than the known he (562 m), it means that point C
will obstruct the line from A to B, and a tower is needed.

Height of required tower = 562 - 556.5 = 5.5 m

1370 m

58 km

y y A
Mean Sea Level (MSL)
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Clilial) cilgud B8 clda) 1dY) o-Y-¢

OSasd ¢ ASed ol JSE a1 Ay 5 el lulll el aaed) (e ST Sla )i 81 g5 Al 8
O allay Calie sy (b JUeSE + Agusigl) il RIN (any 4y ) 55 JSA 1o o Jsdll
VOVAY = B Ul sene Of Ja il 138 5) ABdad (e 0 asaia Ja pd ollia of sk
a1 (5S8 of Alla 8 Ly » gk il aba , Y0 Al o2 8 303 dlaa )i ety
L) 5 3a8at Jue e delud Al cildal 15V 8 6 aoel Aaliall A L e 0 e
network adjustment clifiall GlSus b ol mosaald (3 3da 2aaiiy +dua )l oLkl
(AW Jadll ,a) [east-square e e Jil g sane 48 yha Jie 4880l 3kl Jadil

LS e 5l 8 Ll sl Ay ) gl Aaydl 3kl

elda) 1SN &) gl

fon AN ) i3V Lad 5 ety e 50 ) LB CIS0d b el 351wl (Say
VLAl clal jiEY

SIS o LBl 4803 Ja 5 ) 2 external  conditions A sl el sy
b5 (L) b G 5 )

O ey dan Al W g 3l e o seenall B2 ldll ad Jgha pacll ad Jsha i -

OF e Aasadll Ll 5 50 (e 4 suenall AS051) & Sal i) o) 1al as¥i g pd -
. 3.3}.;4‘)4]\ t_itﬁ\‘)a_iy‘ &j\.uﬁ

L Aok aaY 4 suadll (ayally Jshall Jaglad tmpally Johll Jha dag i -
vkl 13¢] LS 33 s al) (i jall g Jshall Jashad (s sbt O cany sacal)

Ol Lgiiad caag dpwnia CU83le 251 internal conditions dalalall cia) iy
) Ll Al 8 cldal 33 dae ol ) LalSy o clAliall dadid 3 gueaal) culiilaal) 48
e clbealidallsacld) (K3 5o Laly v Janll A8 g dla ¥l daca laa

DA 5 G Y (Cr) ) iy

Al ISl aB il 4y ) 5 juall dlia )Y aae — Aladl) sla )Y aae = ) 5V xe

.

53 gua yall L g 30 2ae Op
(Y — JSal o ) Y = Al ) Jall a8 il 4y ) il sla )Y 230 Oy
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ALaal el 15N £ i

L3l & sane O 55 38Y) J8 L 15 el camn s - [ocal condition (sl b yill -
VO o o)) ang A Jsa B gaa yal) AY)

6 sha O camgy bl Ul 5 3 & seme o 525 ; triangular condition (Sl La il -Y
(05 sisall CaERL) © YA
= &m0 A Gl o o GBI L5 ) g sana o
+spherical excess 4l 3L 3

DBl (ks 4 pundll £30RY) J) gl @l Jleal ; side condition (aleall b, Y

83 g yall Ll 5 5l s Wl cama g v 3 saa pall aliall e ey aial) Jlasdl (e

o il (3at 8 L g3l eda aladin) Jo8 (Al 5 ddaall Doy yill (58a5 ()
el

a8l e g 3 JS 230 & jaal B () 8l ki (S

Y+ oo J = Al aadal jiEY) e
Y4+ 0¥ - g = dalall il 1Y) sae
(g +Jd)-(0+ =)= ladl cllal 1Y) s
e
M\LB&JJ;:O
Lo ¥l 2 = a
Y (e 83 g yall £ Y 220 =
JSal & Kl e dlaY) s = ¢
Nrc=Li-N+1
Nsc = Nrota - 2N + 3
Nic = (Nops + N) - (L1 + Nrota)

where,

Nt.c = number of triangular conditions
Ns ¢ = number of side conditions
N ¢ = number of local conditions

N = number of points

Nobs = number of observations

L1 = number of sides observed from both ends
N1otar = total number of all sides
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oLl JSal Jiia b ledasl (o et aliall Ja i) AU (5 dall (e dpaall aa i

S Ll Sl aliall byl (1-¢) JS4

=Ll Sl il 4y 55 ) dba ¥l e = Oy
§=(Y-¢)Y=(Y— JKallhiae)Y =

Wi A= el JSall (L 3l) ddadl) sba Y ae = O,
(On) somall dba )Y aae - (Op ) Adedll sla ¥ 22e = il i e = Cy
t= & _ A=
C; =0,-0, =8 -4 =4 total conditions
N = Number of points = 4 points
Nobs = Number of observations =8 angles
L+ = number of sides observed from both ends = 6 sides
N+otal = total number of all sides = 6 sides
So,
Ntc=Li-N+1=6-4+1 = 3 triangular conditions
Nsc =Nrota -2N+3 =6 - (2x4) + 3 = 1 side condition

NLc = (NopstN) - (L1+Nota) = (8+4) - (6+6) = 0 local condition
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erliall b Al AU 45, )l

C ks e ( JSal) Loy B IS ) Al gyt Adais () cadal) ddats jliss -

(63 s deliad) (o yie olat) 8 el g) i yilly Aadill 03 5 jlall AaY) ppan S -
CA < CB « CD (o delull e olail & s () S

stie) 5ol U Leuss 35 ity a1 038 o i sl Joi =¥

¢ CA « CB 1glad Hal maay glad Jsf daad o axy 5 580 5 50 42391 (i 5 (i€ -8
CD

gd@i&\y&ﬂh&@@\gﬁﬂ\\&gﬂ@hd@-o

raal gl o 138 (5 gbs -1

CD.CBC _
Mescach =!

sin(4).sin(2).sin(7 + 8)

ad A &) 30 s gl S e (mgni -V

5in(7).sin(3 + 4).sin(1) = |

s glhall 2l bodll e Jiasid dalaal) s2a f,zULe-_)&s';i_a-/\
log(sin4) + log(sin 2) + log(sin 7 + 8) = log(sin(7) + log(sin3 + 4) + log(sin1)

aboas Ak (gf aa i Y U JSB 6 s g 5Sall JSAN aliall i) A Al Je
@rball Loyl e Jeans i) i phadll pLalis O S pal) Akl V) (ol L LidY

N
A B
2 3
1 4
12 5
1N\g/_13 57 C
15 14
10 ;
E 9 8
D

(s 38 Al JSEI alial o yal) (V-t) S

OE.OAOB.OC.OC% -1
OAOB.OC.OD.OE
log(sin1) + log(sin 3) + log(sin 5) + log(sin 7) + log(sin9) =

log(sin(10) + log(sin 2) + log(sin 4) + log(sin 6) + log(sin 8)

V) et L HUAY el A (gf aa 3 Y ) JSAN 1 aliall Ja ) AT AT Ui
v IS L e ) Al Lgy el G B gl Adail) gl G Adas

I [
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Gllial) il Jasda Jag pdi 1Y

tLgiad O jraa Laga oL (am Les ()5S0 Ly Cualy Lage il 40 0 g ymal) (00
Crng 83 g jall L5 3 ramaat sa Bl K0S Tasn dilae o) ja) e Caagl) la Gl
dasiy o+ (ualial) s Al 5 Al cllal LaN1) ASaEL 5 58 siall i) JidY) 8IS Gias

il @)kl gaaY Gl 13 A (i jetin GISAN Jasal dpaly )l 3kl (e el

G bRl 3 g e (Sl Sl k1) Jlia

S A0 Sl Apaigh) SN (5 58T 5 el e 4y il 53 oLyl JSG) (i yny
DO (o Law) 253 JSEN 138 ag ¢ 51 sl (e dala 5 clilial)

Ntc=Li-N+1=6-4+1 = 3 triangular conditions
Nsc =Nrota -2N +3=6-(2x4) + 3 = 1 side condition
Nic = (NopstN) - (L1+Nrota) = (8+4) - (6+6) = 0 local condition

Craoblll 3 gua sal) ol ) JSA) (A-g) Jei

Cr bRl 3 gua pall oLl JSAl Sa Y (i

49 3
Qov ey M"Y, \
Yy oy €1 A\
€Y oA YV Y
ov &Y Y¢ ¢
oY Yv Y% o]
€Y oA &) 1
YY o) YY Y
oY Yv 1 A

Yeda o094 oY g sanall
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© ¥ = Akl Ul g sene 1d V) i) da )
"A .= Y. —Yod 0q oY = il

ALl W g3 (e sl 3 JSU MY 4 = (s ¢ A = il

O sbudie ol Sl Gl gl gl 1 (A A oy

o+ ¢ =A+)

OVy. 4 "FT = A4 )

Oyyv ‘49 "¢y =0+ ¢

"o = {Lal)

A ) O 3 meally memaa®ll 5K 0 MY YO = £ /0 = Al ) IS sl
Lo il leaaial Gaw Al Ll alaadial camgg v 0 ¢ € gl 5l - skl
133 gam yall L) g 31 axiies Vg IV )

Ot bt Gl I il gl ol 2 Gl il o,
Y+1=Y+Y
°© M40, Y)Y =Y + Y
19 0. V¢ =V +1
"y = (il

oY g 30 2 I mmeatll 5Ss 0 MY YO = £ /Y = gl IS el
C VT Gl aaadl

Crkil) JJA)A\&U}’MMM?EJM\@MJJ&

a4y gl ) 3l BT BTN 133] O gl Jlu_g.a_'u; .b..._g...am]l
danalll . 3l ot b R 4l 5l
0OV LY myy,ve | "V | ey yas oeVIEY " Y. )
EY YV "LALYe | Mg | MY, Y+ ARBCNCEE oY YV L4 A
"
eV EY mvrove| M+ AT = AT I o H
Y YV m.ive| ™4 | "),Yeo Y. .4 £ BY YV LV 5
YV 2Y "EAYe | myy "L, Weo YV o2y §£4 Y
£Y A "V Te | M4 "y LYoo 99 &, YY) £Y oA VY
my
£Y oA MET Ve [ M+ "y Vet £Y &AM £ g
YV o2y "ToVe| "Y4 | "y,ves 4 e, v LRI s %
D‘--I-'f,\'\'"i'\' DT‘ q,-‘q "o T

e Ll ae Lal i) (Sl (Uil (o yhadl) adalis ddads liie) (Say 1 adiall byl
D rball byl Alalaa sS85 Al g (Alisa
log(sin 8) + log(sin 2) + log(sin 4) + log(sin 6) =

log(sin(1) + log(sin 3) + log(sin 5) + log(sin 7)
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IS sl ¢ S5

(YJd) AW Wls oo () J) Loodll W3l ol 3 coas )
(YJ=1d) Gl ot Y

s 7 i s sl 5o (L 5d) Led S o Ll s 30 maatl Jales Capins
v SV s (s ) L Ol A L e sl

oL

seconds.

2

() Wl mead" ) s e gana uuad

-y

(@) / (Y 3= J) = omeadll Jalna £

Compute L1 = log(sin)+10 for the even angles,
Compute L2 = log(sin)+10 for the odd angles,

Compute L1-L2
Compute L3 =Y § log (sin 1") x107 for all angles
The correction for each angle

-0

= (L1-L2) / L3 in units of

This correction is added for the angles have minimum L1 or

L2, and is subtracted from the other group of angles.

(P.S:

use the precise value of 1 = 3.141592654 )

Cr bl 3 g pal) oLl JSEN alall o pdd) aaal J gaa

Ang. Semi- Log (sin) | 8 log | correcti Final
corrected | +10 (sin 1") | on corrected
x10°
8 52 27 08.25 |9.89931189 16.2 - 0.45" | 5227 07.80
2 27 5148.25 |9.669817154 | 39.8 - 0.45" | 27 51 47.80
4 57 42 33.75 |9.927147388 | 13.3 - 0.45" |57 42 33.30
6 415843.75 |9.825474828 | 23.4 - 0.45" | 4158 43.30
L1 =sum 39.32175126
1 57 42 32.25 |9.927145393 | 13.3 +0.45" | 57 42 32.70
3 4158 31.25 |9.825445579 | 234 +0.45" | 4158 31.70
5 52 27 06.75 |9.899309463 | 16.2 +0.45" | 52 27 07.20
7 27 51 35.75 |9.669767369 | 39.8 +0.45" | 27 51 36.20
L2 = sum 39.3216678
L1-L2= |=39.32175126 - 39.3216678 = 83.5 x10°
|
L3 = 185.4 x10°
|
Correction =83.5/185.4=0.45"
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(YU = 5S,all dsa W3l & sans) aal 5 (e il
(VA = L5l g sane e JS J3) Ailie o g 5 day
vaaly oalia by
LSV ol il shad o S5

VAL = TN Ll 0 g sane o 5Sa Calie JS Ul 5 ) s <)

Yl = Lo sane S S 5all Ll 5 ) amaal -Y

S el pat Ol ) (e 45 )LE) Say Silfla JSV S5l 4y 5) ) sl by -
Sl Jsaall A1aaY ) v 5al 5w il bapall e ilas s Culie JS 3
(o Y i cllial) Jaeadl ™Y 0 BY & sl f

3gayo el N JRa N 8 e LS sl i) aliall b il mmas -

A
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Sheet No. 4

1. Define the geodetic control networks? What are their
importance in geodetic surveying?

2. Why there are several orders of geodetic control networks?
What are the differences between these orders?

3. In the next figure, find the best path to compute the baseline
CD from the known baseline AB?

4. Check the inter-visibility between the triangulation stations A
and B whose elevations are 402.5 and 13955 m
respectively, where the distance AB equals 95.5 km.
Knowing that there is a point C whose elevation equals 610
m lies on distance 32.5 km from point A.

5. Adjust the following quadrant figure:

Angle Value

302050

4033 30
54 54 56
42 37 47

4153 49
394339
25 44 38
54 10 45

o
0O~-IMNwh =

6. Adjust the following quadrant figure:

= Angle Observed

X 30° 19' 40"
40° 33' 33"
54° 54" 48"
42° 37' 10"
41°54' 19"
39° 43" 33"
55° 44" 42"
54° 11" 33"

;
4
O ~N®O| R W N =
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12.57 0.02 12.59

LIS Lglon (S Aiiall oUad B dda suaall adll Ll
Vi=aAX +W
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0.00 |
0.02
V“:AX“+W= 0.02
004 | ™
-0.04
0.04
AU (CLulall) a3 A gacaall adll Clus Sy LS
L=L+V
6.16 0.00 6.16
12.57 0.02 12.59
6.41 4 0.02 _ | 643
1 = ~ _ | 1.09 -0.04 1.05
L=tV 11.58 -0.04 11.54

5.07 0.04 5.11

: SulS Adjusted Variance Factor ol Jalaal dda gocaall Al Glua ol

& =V"PV/(n-u)

._.
=
.

0.00
0.02
0.02
-0.04
-0.04
0.04

= EJ.OO 0.02 0.02 -0.04 -0.04 o.oﬂ I(6-3)

oo o oMo
co oK oo
—
=
oo R oo o
oo o oo
FEoocooo

L=l Y e P o}

=0.002/(6-3)=6.7x10"

Adjusted Variance-lsaall jalall (n bguadl il dddias Ll
1 SUlS Lbua 218 Covariance Matrix of Adjusted Parameters

FaY " _1
T_ - 65N
X
4 1.6 0.8 0.8
= 6.7x10" 0.8 1.6 0.8
0.8 0.8 1.2
4 | 1067 533 533

=10"" | 533 10.67 5.33
533 533 8.00

Dl 2l A geaall jualiall 4l bguadl g jbeadl Galas¥) dad lua Loyl 1)
I\AM\ bh@i (U:\LUS\ ?:\5) ‘)jnﬂ\ )m\.\aj wﬂ\

°H, = \/ 10%x1067 =327cm
GH \/ 4

L =% 107 x1087 =3.27cm
°Hy = \/ 107 x 8.00 =2.83cm
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LIS () oS5 (A Ol 5 1) aplia) W saall pualinell dda sucaall 2l i Ml
S oYYV E ) v0 =3 Hng ol i -
S aTYYV E TN =D sl o g -
e v o YAY £ \V_OQ=CJ..H})S\£'_1};.L\A-

Ll bl M)wg_\*u;;u\ Saddl (e Javall g_a\jlaauno).my‘ 5 ohall 8
Adjusted Variance-Covariance Matrix of Adjusted 4k seall Jha))d
1 SUIS (L) Al s 8) Observations

s Py T

I_-—A T_ A

X

R 10.67 5.33 -533 533 0.00 533
S_=10-4 | 533 800 267 533 267 0.00
L 533 2.67 8.00 0.00 267 -533
5.33 5.33 0.00 10.67-5.33 -5.33
0.00 267 267 -533 8.00 533
5.33 0.00 -533 -5.33 533 10.67

8 Ada grzaal) sl B (5 bl Cal AVl ol 8 dd siiadl) 028 addi () Saall (e
Adlal) A0l 5 ) sl s aT il 303 lilua 3 Jasin sl Y1 ea (o Alla

=

dgadl) e eV alaall Cilay yal) (8] Jauia Y020

Azl )l Vbl e - Lol - Cilag all £ e BB dan 45k ol 4yl adiad
&}.\S\ e MJ]\ «_NALM c_ulS ‘_9.\1....;!\ dl_ml\ = Lmear Equa'uons Laas M.L;J\
JLLAJ\)J‘ UJS-’U‘\L;’Q;A.M u\S.u.anqe U““L;’L;Aj\ u&uﬁ}‘gmj‘ﬁ\ 4\73.)3\;]\ a_\ls.u.n
o A geaall paliall oS5 i base line sxeld ba J< & )k o Gldlaay) 35 8 a

;058 3acld Jad (K1 AD aea )l OV o) s aclall baa iyl il

AX=X2—X1
AY:Yz—Y1
AZ=22—Z1

5 aba Y Al N A () sSE Le ) dalead) ciliudadl) e KN Sl (K
Ayl Gakails V5V Al (e Ayhd ABDle Casd (Lo (oslladll) Al sgaall jualial)
2y Al g gl ) (2 ) am.u) ADadl 028 Jysad ey Clay ye il £ sane hasa
U (e hall Jisadll Alee a5 Linearization sl (b Jigadll e dlesl)
i Aalaa Y (Taylor expanS|on series bl Glalvia) de ganay 8 jay Lo gl

(A e Aplad Alalaad Lehy oad (Said X Jseaall (B F dodad

F (X) = a0 + a1 (X-Xo) + @2 (X-Xo)* + @3 (X-Xo)> + ...
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where,
ap = F (Xo)
a;=0F (X)/6X

a,=0.5(8F (X)/8X)
as=(1/6) (8°F (X) /8> X)

palinall (e de gane pan Juala (e (S5 (daddl e ) Aabeall ddadll 5 seall off
Sl uaiall g xg aaiell Ay il Aadll vie Lgwdi Aalaall Aad g J5Y) aiel) Cua
Caal s G yaiall s X Jsenall poaiall dualy daladl JoY) Jalall e 3 ke

I sl AN Jualal)

ulae 6 Gl 65 558 Auln sl liny g Ve (S 505 2yl e (f el
Oe dad o paie Jl Gluay S5 all) Lzl Ui Linearization hall Jasail
paliall bguadll aniall dad O Siud bl (B Jleaa) dagiiy A kil alie
anie s S I LS — 5 a0 5 e — Agaidl 13 Jeatuin Sl 438y e X Al seaall
Aiial) +UnaY) 4nie e Aual 5) (5 3l 5y Janall st ymi 3 X gy 1 o
(X" Aad () A 0% (s Dl s2e jteration Lol Sl Adell o2 aids (W
Al Al sa (sS)) pAY) X Aniall Aad U8 las 3 jpea Al Gulliie (p )l JSS o
Akl Yaladl Ja b i) S dleall 2lias Y Uil JaaY) & gganall jealial) adl

wd gaal) g daladl (8 Ahall e Y aleal] Ab

somilady Al A8leal) Adalaa =)
dglaall ye AlaY) daladl

Di = V[ (Xc = X )* + (Y = Y))]

ek cilan ) &l senall Alaill 5 j lilaa) o sbeal) Akl (o (3302 l) Adlasal) Dy i
Ky Vi) Asll) Al cilan) () sSis Ui A ggaad) ualiall o (o

Sl A Ci5lalaal) G ghuma & jeainll (51) K Aliill X SaadU dpnills Zpbasl Alsladl)
F(Xk Jsenall
SDjk/Ssz(Xok—Xj)/Djk

Sl A el b sima b yeaial) () K Aaiill Y s dpnally dydadl) Alsladl)
:(Yk dJ seaall

0 Djk/SYk=(Yok—Yj)/Djk
K A0 sganall A0l Ay ) lgaYl (X, YO )
J Ao glaall Adaaill gl ililasy) (Xj , Yj )
cxtlaiil) ey Al ALl Dy
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Odihtt u (el Cal yaaY) Adalea -Y
dahaall e bl Aol

a=tan” [ (Xe=X;) / (Ye=Y))]

U seaal) dlatill y j lilaaY) Lasheall ALl G (3aall) Gulidl Gl asY) g dus
(XKic 5 Yo Al ddadall ciilan) & s L A geaall jualiall of ol <k cililaa!

JHE A Cllaall ddsiian & jeaindl f) K ddaiill X Slasd dually ddadl) daladll
H(X Jsexall
Sal/dXe=(Y%=Y;)/(d%)

Jiaall A i lalaall 4 simn 3 jeaial) (gf) K Adaiill Y SaaU dpusilly dplaal) doladl)
(Y Jseaall

SaldYe=-(X%=X)/(d%)?
K a0 sl il gy il iBnY (X, YO, )
J I\.AJL..J\ alaall 4_13.\3;1"_.": ) Q\_jj\;;}!\ (Xj , Yj )

d%= (X% =X) 2+ (Y% =Yj)?

pAghal) p8 dba ) bl Jla

fasleall L G (ST, S2, 3, S4 i) Ll il £ (il 5 ) JLa) s
Al 3 ool a3 LS (Leildilan) s slladll) Pl seadll it NP1, P2, P3, P4
:P1 P P2 4

P 't P1
/52
S1\ /
Y/
PP
853
VW P3
54.»";
pa 1

Lhail) & ala Y1 hapdal JUia (0-0) JSi

SIS (aba Y1) il cals

25108 dran 0] y oy Yore/vaoye Sl deadl - ||| dalue 5 e



il digl) ad Somay e alalls Ul a1 3 agadl

&Jw\ ub;.w\}f\ dqaal) BM)M

S e VY + S YEg 0VY S1 (:
e VT E i YY) oV, S2 Y
e YA e YVY Vot S3 Y
S Vet i YV4 49y S4 ¢

"Y + OVYYY YA MY ¢ B °

: AU A SVl gl Jalis clflany A slell 2l cailS

Y (meter) X (meter) )| A8 ddais
qYo oYY ALY YA P1 )
141, Y¢4 VYYV. ot P2 Y
VYY. QY YAYY VYV P3 Y
ToAYEo Afv £ A P4 ¢

: AUIS W lie) (S P A geaal) ddadill cililany Dy i) 4@l Ll

X°=1062.2 m
Y°=825.2m
°=n Ala )Y 2ae
Y=u A geaal) adll 22e
¥=Y_-0o=df (n-u) dall cila o
sala ;Y 4ata
S1
— | 82
L=| g3
S4
B

oY 3l o Auliall 40 30 of Aaadle a) Ahadll e Alal) ala Y1 C¥ales
: (P P13V o3y 5 P P2 &Y

ST1=[ (X1 =X+ (Y1 =Y))]°°
S2=[(Xo =Xy’ + (Y= Y)*) ]°°
S3=[(Xs=X)>+(Ys=Y)*)]°°
S4=[(Xa=X)*+ (Ya=Y)*)]°°

B=tan" [(Xo—X)/(Y2=Y)]-tan™ [(X: = X)/ (Y1 -Y)]
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(ohall 5 ) pall ) Lebisad axy slia ¥ Clalaa g ginia 1) A S llrall 4 giias
L OsSi

8S1/6X 3881/38Y
§S2/8X &S

A=| 583/8X 551
5S4/86X 581
5B/8X SpI3Y

adll Clia 2 LY = Y0 5 X = X0 i 52l A 28 shaal) e o il ol
)l aladinl ae (phall ) sall Ve 8 pdlaall (e gl Sla )3 Ay )

S1°=[(Xs— x°)+(\(1 Y°)?)]1%°=244.454 m

S2° =1 (X, x°) +(Y2-Y°)?)]1%°=321.604 m
S3°=[(Xs x°) +(Y3—-Y°)?)]1%°=773.184 m
S4°=[(X — X°)? +(Y4—Y°)2)]°5—279950m

B=tan” [(Xo—X°) /(Y2 —Y°)]-tan" [(X; = X°) / (Y1 =Y°)]
= 123°38' 19.87"

Aadiall eUadl) date o sSow Sl

244,454 244512 -0.058
0 321.604 321.570 0.034
W=LU -L=| 773184 | | 773.154 |=| 0.030
279.950 279.992 -0.042

19.87" 01.40 " 18.47"

A 4 hadl 5 llas laal

8S1 /86X =(X;—X°)/S:°= 0.911907
881 [ dY = (Y1 - Yo) / S1o= - 0.410397

8S5 18X = (X2 — X°) / S,° = - 0.846831
58S,/ 8Y = (Y2— Y°) / S,°= - 0.531862

8S5/ 8X = (X3 — X°) / S5° = - 0.991291
8S3/8Y = (Ys—Y°)/S:°= 0.130937

5S4/ 8X = (X4 —X°) /S,°= 0.802972
5S4 /8Y = (Y4—Y°)/S,°= 0.596017

SPISX = [(Y1=Y°) 1 (S°)?]- [(Y2—Y°) /(S°)°] = 2.505347 x 10° m
SPISY = [(X4 = X°) 1 (S1°)%] - [(X2 — X°) / (S2°)?] = 6.363532 x 10° m
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aniall e paYl Hludl cilas g lain jidh A ddsieadd) (e 5aY) Sl Glas g of Gua
Culd Q8) YoTIYTE A Q0 6 A e A Skl e Gaagd Al Clas s W
(" b cslie e Jalay

: IS A O alaall 48 i ) S Sl
0.911907 -0.410397
-0.846831 -0.531862
A=| -0.991391 0.130937
0.802972 0.596017
516765  1312.574

) Gl (e lakd alic oS Cuan Alial) sl B i) 4 shias (5SS A

0.012° 0 0 0 0
.| o @ o 0 o
L= o 0 (0.038) 0 0
0 0 0 0.0147 0
o 0 G
IS S ¢y 50 b shan 8 ) = 67 Al Of Gk

1700127 0 0 0 0

o 100187 0 0 0

P = 0 0 10387 0 0

0 0 0 1/(0014% 0

R 0 o 1@°

A peal ) OV aleall Al o oSy S

N= Ap A= 12553.01962 3208.04304
3208.04304  434811.54111

_ AT -649.618710
U=sAPWS= [8031 084978
o8l Lgiad e Jialaall el (5 )8l A guadl) 4l ania () S5

A 1
X =-N u=| 0.055400
-0.014281
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(0S8 (Jall) Joalaall Al sacaall adl) ania ofa el g
— o A
%= 3+ X {x _ 10965.2554—‘
Y || 8251867 |
1055 Aiiial) ¢Uaadl Ak guaal) adl) anie Ll

0.00187 m
0.00550 m
0.02726 m
0.00597 m
-0.27"

< >
Il
r
>
+
=
Il

10588 dba ;0 Al guadll 2l 4aie L
244510 m
_ A 321.564 m
L=L+V=| 773127 m
279.986 m

o
123 38'01.13"
: JUllS Adjusted Variance Factor ¢xbill daleal dda guiaall dagll lua o3y

& =V"PV/(n-u)
=0.8436 /3 =0.2812

Adjusted Variance-lsaall alall (n bguadl il dddias Ll
1S4 Lelua 218 Covariance Matrix of Adjusted Parameters

. _ 2 -1 79.81 -0.59 -
B w0z 198 935, | [ 2206 0]
A ghadll og) (bl af) Sl jalial a5l
cx =\ 2244 =4.74 mm
cy=v0.65=0.81 mm
1 SIS S5 (P Ak clflan]) 4 pgaal) jealinll A gaall 2l ofa Ml

X =10965.2554 + 0.00474 m
Y =825.1867 +0.0081 m
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Ja i) e alaal cilay ) J8) Jasis ¥o0.0

Lol (e de gene 33 o ey pall Uil g sene Jan 35k (e 485kl 028 e
a3 Lgbe g il 038 sae (68 Y1 e constrains 25l 5l conditions
Ala)¥) de seaa 3853l redundant observations dalall (e 331311 ala )Y
S ddas Ggl)) 4 slall ¥l e 13 (g giee ilie (o da (Se JUA) dae e
Ay pall dbal¥ 5 Ll Cpaliaad)l sla )W) dpews Lo s (& L &gl 5 (el
OsSiud (Sa A 4_:}\)!\) Al ) 3aa ) Laa ) 104 «necessary observations
4.943;.)&_1;.1 (Ls—’l"‘“; d.lﬁ;.i) A.IB )\ L‘).u Sl u_;S.u.n ‘;L\n_lj‘t;hj\ Je cm\J b.LaJ
JLAAJY\) ‘\.U}J..al\ JL&AJY‘ Qe uL;.a ( YA L..g‘jw u\ (GEE N Caliall \,3\}) &}QM)
sacldll (&l .. e Al e el 3) A aluall Jeadl g il e (L) Gaalisl)

o)) Aalad)
r=df=n—npec=n-u

independent conditions aéiwall a5 yall xe r
Lallas,n df

sba ¥ 22 n

45 0l JL“AJSY‘ 23 Nnec

A geaall adl) 22 u

Jasi Y 5 Jads slea )Y (e (S (Gl SV ) dasplll c¥alae o I 3LEY) aas
hodl baall A5k AaE de sy lgbes Cslhall Ageadl sl Ly S5
o) e Jganll cildal 1Y) o2 Gisd Yl 4 Conditional Adjustment

M}M\)mw\eﬁumeudu\ jl:aaj\ ?J‘\LJMAS\

s abwal) Jaad) 8 Ak pdd) cialeall AL

G dla ¥ s ey aludl Jead) daph o bpdll ¥alee G065 aaing
o Ay L 6 (o) aal 1 e g dag il ¥ alae 0 sS4 A4S, Hha gy Wl ol dS0l)
(e L e 5SS (S (A sl i¥alae A8 ke (aSay) 020 o s abise dae S

il 1Y) Y alee (95 A ALl any Ui adiia

1l gl CSul i (1)

g sane 8 (dS) i) ailed 5 4y BM Jmsy smie aglae 40 jae bad Alls
O Eesial 358 sl o) G (QIWY) Ble) je pa) bshall caliall (358
0585 Tyl Alaa sl ecpapms )
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H1—H2—H3+(HB—HA)=O
ol & seadl ) o aii oyl dlalee o8 (JSEN Hhil) 400 j0e Jo sl ddls Al b
L (g b (DL Ble) ye aa) ) Suall 55 )

P2

Hi—H,+H3;=0

dan AYalaa) hdll e il (e 0S8 A juall lSud 8 byl G alas o Ll Sy
o (o o)) s 5 A Y1 Al ISl Al ) S Gl 5 (I

e I S b ()

Gl Lapanl gyl pd am g (LBaY) (esbee Gkl G Jay ) Jospall (s 8l 5
saclill (i Loy S 8 (U8 ladl) daball gyl il DAY 5 Al clilaay!
Gk (s SLEY) G ot (Rosbeall Al o) s SLHRY) G5 £ sana o

e sladll

82
4 i, 4
| AP
i‘B‘I ~d1 a2 o
aige Fe)es
Ja
N4
pad )
\ d4
Wb

ey AX = (Xp —

Xa) =0
S%1 AY = (Yo = Ya) =0
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(Xp , Yp) 5 @ %esbeall dhaiill cldilaa) (X, , Yy) g senadl e Juilia T Adle Eua
b e sheall Al o)

5 W53) Gl ALaYl sl Y1 e Ledon i Bk Y iy G5 ol S
- IS Lagili€ sale ) (Say Ja il Jilibaa ol (il sl

41 disin Bj— (Xp—Xa) =0
24i=1 d| COS B| - (Yb - Ya) =0

S Ja il ililee ol Glaal) G il il Alls 8 Ll

24i=1 d| sin B| =0
Z4i=1 d| COS B| =0

Aokl Y alas Ui cpisilld) cpitiladd) of Adaadle jaas

35ns g (00) AR U3l 5 clileall o lall (il il & sba Y1 S 1) Ll
A1 U550 g sanal G5 Ja yd Alabaa da giad o sbea 2al 5 Cil el

Z4i=1 G,|—k=0
&Cﬂﬁmmeﬁjswﬁ\ﬂ\kmdmécmﬁsubK@;

K=(2S—-4)x90°
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ol @l «OF1 = Kafﬂsou@usgj € =S Ll Lla s ol il Jsa e
oY T sben o Gamy A0R0AN Ul 5511 & seae of (o JSAI 136 ZAIEN Lo i) Alales

llial) Gl 4 (7)

la ¥ s :olé Triangulations Wl duwde clifial cilSus 8 cddle dia

) Jal)

E:M}@A\Lﬁﬂ\qx_

A=¢x Y =34, pall ala )y ae

4 55 pall dba )Y dae — Adedll aba V) 2e = (Adaial) Ja g il axe) 330 30 Aa Yl
A=A_\V1=

IS palin layd )+ lae a8 Y 4 aibia dag 3 © 1pe Ailaill dag Ll ) S
il o gy

B35 VA g st O i W) g same O 0585 (Al L8l Alsbee 8 Blae S IS
‘e (5 sime Calia Ll s (55 S Cilie 43 Cun (g ) spherical excess 4 Sl sl )

O(,2+OL;3+OL12—(1800+8)=0

el L g )

Lol aen ol o3 Adais of die Dliad ks ol aie 331 31 sl )L Do il oda (glac

b P4 dkill xie Jadl g LS OF T gl of cangy Wls 3l o2a ¢ sama o8 38N (il

g Ay (V1 All) Apsa e Ayl bl & P3 Al ve Laf  JSal
Lo sl JSN 8 Gl eyl ilabae ofd iy Ve 54 gy )

ag *+ oo - e =0

o1+ Op + gz + og + g5 — 360°=0
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A [PAPRA

ot o g (Bl )N JKAL) Al Wl s ety e ol g gene O 8
108 aliall Ja 3l Alalae G (s Aua 530 L3 s il jle 1 g sane

[log sin a4 + log sin a3 + log sin as + log sin a7 + log sin ag ] - [log
sin ay + log sin a4 + log sin ag + log sin ag + log sin oo ] =0

LA Ja g 3l Y alae ey dudad Aalae canad 4800 A y80 Aol o aadle jaas
Jal (A) bl ASus ke il c¥alaad) dae o LS Ak ¥alae Agdadll Ja gyl
il 3N Y aleay Jasall 48 ) dglun 5 e any Lea (171) Alail) e )Y 20 (e

B Sl Alla b ala )Y ¥ aleay Japall (e

- i) gl Y alae

AUS S (Lol & ks ye culS () phall sl ) Jog i) S¥olea dygad anyg
SIS Ly 580 ¥ alaal dalall 3 saall
A

+
Br,n Vn,1 r,1

Lo
SELN

A

(Casiall (e 1) isiall cUndY] dnie W

5 (Bl aae) Cagiall e e ST (Ahadl) gl Yalee S lilas 48 jias B
Js¥) Jualsill s B 4 haal) jalic o paic IS o @l (Sba V) 22e) 52aeY) (e
e Y1 e s ) Al o 3 Aaladl

LU« &N
51 B2 &in
&f2 &f2 or2
Br,n = 5_“ E;IZ E.In
& & LY
&1 B2 &ln

hoall ol 45,5 Normal Equation System 4 sa¥) c¥aladl oUsi L
Bosa B OsSe
I\/Ir,r Kr,1 + Wr,1 =0
where,
M=BP'BT
AoV aba 3 ()5 A shian A P Cua
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& aY s Jdas 4l Vector of Correlate bli ¥ 4sie ewd K 4asidl L
B wlelaall 48 giiaa of dlae Jal il Y alladl 5 Sl Cus Lagrange Multiplier
Al e fna e Cands) Lginanl 20 (5 g ¥ Lghsiom 320 (f Loy Al & jhone o

B L slia sl (e Vs (a1 Y abnay Lnpal) 46 5 3 A i sl

(e OsSE8 A pa) ¥ alaal) ol s il sl Ll

K=-M'W
V=-rp18"k=(8F"8")" w
L =L +~':}

o2 =VTrPV

EI o LN U VRN B

. - .
Jalre il AilaYl L L cpliil) ddgiiany L 4k gacadll sla )9 e Jiass @l
_33 Ll aay il
O2sSE b Ada guaall slea )Y aladiinly o g5 A geaall jualiall dda suadll all Colusad L
BJ}auﬁuﬁAuﬂjcu}M\yw\w}@thYme
A —
X = F1(L)

Kast (G 4 shiaall Lepanil) sla DU dilly F1 ¥abaall o3¢d J5Y1 Jualédl) LA 1318

G =&F1/&L
A
A

Al e aleal bl hadall Sl

aday L a s g dba )Y @¥aleay Jasall 45y yhay (V-0-0 Hlail) ala Giludl s JEall 1a
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QUESTIONS

1. A distance has been measured five times as: 41.12, 41.14,
41.20, 41.18, and 41.16 m.
Compute the most probable value of this distance.

2. Three levelling lines have been observed between two points
as:
- height difference = 13.492 m for a distance of 1450 m.
- height difference = 13.412 m for a distance of 900 m.
- height difference = 13.452 m for a distance of 1200 m.
Compute the most probable value of the height difference
between the two points.

3. Use the observation equation method of the least-squares
adjustment to adjust the following levelling network:

Wy g
Bl Edya‘).ﬂ bl Jsh
AX 12483 m Skm
Xl e z AY 48351 m 10 km
" g AZ 5492m Tkm
XY 35883 m Tkm
Xz ~7.003m 12 km

YZ —42.956 m Okm

(I) Construct: the observation equations, then construct the
vector of observation L, the coefficients matrix A, the
vector of unknowns X, the vector of approximate values
of unknowns Xo, the residual vector W, and the weight
matrix P.

(I1) Write the normal equations system and its solution.

4. If you are going to use the condition equation method to
adjust the previous levelling network:

(!) construct the condition equations, the condition equation
matrix B, the weight matrix P.

(I1) Write down the normal equations system and its solution.
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QUESTIONS

1. What are the merits of GPS in surveying applications?
2. Discuss the main components of GPS?

3. GPS positioning requires observing at least 4 satellites.
Explain this statement.

4. What are he differences between code and carrier phase
GPS observations in terms of ease of use and precision?

5. State some observation methods used in GPS positioning.

6. Explain why static GPS observation technique is preferable
in geodetic surveying?
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